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a &t 4 100.0 820 100.0 824 100.0

x  BERERAROREERZEST L

(11)-O (11) EEEEREAPOEMTEMIBISEEER N

p 2
iy D 5ep e B
86 4] 106 182 285
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

54




(12) BENSBEESHIRGE TOIERA - Fin/ER

7THmU El13@A EJ16em UL E]19 L £ 65 ML £
& w wlemuTE| i i i st
R2EUTFTIISHERULAT|II8HFRAT|IAZXUAT| 74 AT
X5 | 5tz | ass| &e |ass| &t |a6s| ks |ans| ns |ass| ks |ass| ns |ass
e CSHECSH HOSHNOSE RCSHECSH NOSH NCSH NCSH RIS NOSH INOSH OSSN NON
100mLTF 0 0 0 7 0 2 0 6 1| 20 0 2 0 4
500mIL T 0 2 0 9 0 7 ol 14 ol 71 ol 15 ol 10
1IKm BT 0 1 ol 13 o 11 o| 15 o| 102 o| 20 o 14
1000m L A 0 3 o| 29 ol 20 ol 35 1| 193 o| 37 o| 28
100lm ~
0 0 0 3 0 8 o 18 1| 100 o 18 ol 15
2000m
2001m #2 @ 0 1 0 1 o| 10 ol 30 o| 130 o 14 2 3
BB T A 0 1 0 2 0 6 ol 11 o| 75 0 8 o 12
& =t 0 5 ol 35 ol 44 ol 94 2| 498 ol 77 2| 58
E:1 6EUTICHARTESD -
2 EEMIEEERANOSSOARES
(12)-© BENSBEERESHIRGETOIERER - FElnER(BEEED)
12T
o ¢ 10 [ e ]
158 F
188U T
1ombLE 20 102 100 130 _
64RELLT
yZv s

0100mUFT @101m~500mT ®501m~1001mET ©01001m~2000mTF ©2001miE@ @EETEE




SHSF HOIBERHET

mEE BT IR EERE YA OIS THBESD BinEPEHEER
TEL 072-228-7636 FAX 072-228-0220

URL http://www.city.sakai.lg.jp/kurashi/bohan/koutsu/index.html




